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Unit 6 Sty ruied.
Inequalltles

Circle the values that provide a solution or solutions to the given inequality.
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Graph the following inequalities on a number line,

10) You must be at least 48 inches tall to ride the roller coaster.
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Write an inequality that represents the problem and solve.

11) Josh has scored 35 points so far this basketball season. The schoal record is 85 points. How many

more points does Josh need to score to break the record? X = PU 1rvhks et
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12) Five times the difference of a number and 8 is at most 105. What are the possible solutions?

13) Each month Marie pays Molly Maids $6.75 per hour to clean her apartment and always gives them a
$15 tip. 1f she budgets $65 for this month'’s cleaning, how many hours can she employ Molly Maids?
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14) Admission to the state fair costs $6 and each ride costs $1.25. If Emmanuel wants to spend no more
than $20 at the fair, how many rides can he ride? Ko gk ot yrdes
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Solve each inequality. - = 2
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